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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

60+ 96+ 75=

68 + 92 + 46 =

38+48+36=

43+68+30=

86+34+97=

47+ 95+ 62 =

64 + 86 + 46 =

94 +54+29=

66 + 51 + 68 =

22+35+25=

29+87+11=

16+33+43=

0+50+16=

62+21+41=

Answers

10.

11.

12.

13.

14.
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E:L Three Addends (2 Digit) Name _Answer Key

Solve each of the problems. Answers
1) 60+96+75= 231
1 231
2) 68+ 92+46= 206 5 206
3 122
3) 38+48+36= 122
" 141
4) 43+68+30= 141 ] 217
5 86+34+97= 217 6. 204
7 196
6) 47+95+62= 204 137
- 8.
7) 64+86+46= 196 9 185
10. 82
8) 54+54+29= 137
11. 127
9 66+51+68= 185 12 92
13_ 156
10) 22+35+25= 82
14, 124
11) 20+87+11= 127
12) 16 +33+43= 92
13) 90+50+16= 156
14) 62+21+41= 124
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Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

[[

185
204

137
141

82
206

231
196

217
122 L

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

60+ 96+ /5=

68 + 92 + 46 =

38+48+36=

43+68+30=

86+34+97=

47+95+62 =

64 + 86 + 46 =

54+54+29=

66 + 51 + 68 =

22+35+25=

10.

M odified
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